1

Ratio to CMS

/00”4%t dcrdggt/dchiOlij ot
b =
(00}

0.12

0.1

0.08

0.06

0.04

0.02

[EEY

0.5

7000 GeV pp

5

N L S N I A B L B
Di-jet x (1800 < Mijj < 2200)

m CMS
Pythia 6.424 default
----- x-- Pythia 6.424 pro-q20

|
. x
‘g 4 ................. 4 ..........
- I SR -
4 ________________ % -------- ﬁ .
|

| | | | | | | | | | | | | | |

= —  r - tr + t 1 — r - tr Tt [

- Bz ¥

- s *..

TR T ]
- ¥ = |

Rivet 3.1.0, = 7.3M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


